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I Analysis of end of 1 nmwn: all 0’95 were situated lengthwise to the length of the w1pn
a  ~r7x all ©Y3 in WIpn are situated E-W except for 11K; since its staves are N-S, it is also N-S
i Source: staves are N-S from vv. 1-2 (the poke into na19); and they must be on short sides, per v. 3 (need room
for 2 nnp "1 in front, 2 in back to carry 1R > must be on short side, with length between them)
II  Tangent: the 10 mn%w and 10 mn added by nnd>w (vv. 4-12)
a  vv. 4,6: cannot mean that 5 were on left of entry, that violates v. 5 — (jn%w on north, M1 on south)
b Rather: in each case, original *93 was in the middle and five were on each side (east and west of them)
i Note: they were all situated within western 20 mnx (1/2 of w1p, which is middle 1/3 of total 53n)
¢ Placement of nmansw. on E-W line (17) or N-S (v”ar)
i 237 infers from n1n, which was E-W from v. 7 —"n n1aY; if it was N-S, all would be equally 'n »a%
ii ~ »7an7 infers from IR, which was placed on N-S line (per our nwn)
1 »27 prefers to infer from another “pin” vessel, not from IR
2 w7anT. should prefer inferring from “pn”; but he holds that n1n itself was also N-S
(@) 7 2295 wicks of the other m1 are turned towards the middle one, which is turned in (towards 1"1p)
(b) Application (yr12 ’7): the middle one is preferable
d  Spacing: according to a7, we understand how 10 man%w fit into 20 mnR (from n118 to 20A line)
i But: according to w”ar1, how do 10 fit into 20A?
1 Additionally: how would nnn3 get through?
2 Besides which: 5 of them would be on south side
3 Finally: where was the original, main jnbw?
ii ~ Response: even according to »17, the last question is apropros
iii Answer: they were not in 1 row; rather in two rows
1 Challenge: according to w”ar, this is fine; but to »23, with 2.5A between wall and row1, row1 taking up 2A,
another 2.5A to main jnYw, another 2A for that inYw and 2.5 until row2 - .5A is in south
(a) Note: this all works under assumption that on% was placed on all min%w and o113 needed room to get
past them to remove/place bread — see below
2 Answer: original in%w ("nwn 1nYv”) was at top of two rows, with no need for 2.5A between them
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e  Placing of o21977 onb on auxiliary tables, lighting auxiliary sr130: dispute »10W 12 YR /070N
i opom only “nwn’s” table was set (v. 9) and only “nwn’s” lamp was lit (v. 10)
ii ~ w7anT. they would place onb on all (v. 11) and light all (v. 12)
1 Response (711777 72 207 “1): v. 11 refers to two auxiliary tables in 09, per 1 nywn
2 Note: mention (1:1) of P10 PRI WP PYYN (- start on silver/marble table, move “up” to gold)
(a) Sources:
(1) yp7Tn pRr-v. 13 (hwn alone raised 12wn, afterwards no one “lower” could)
(i) Yyn—v.14; first they were appurtenances for the narn, now they were part of it itself
(b) Tangent: v. 15 teaches that broken tablets were also placed in R

(i) Teaching (9o’ 77): that we must take care to treat a n”n who forgot his learning with respect

(if) Note (5™): occasionally destruction of n7n is its foundation
1. Per: n"apn’s “congratulations” to nwn for breaking mm? (v. 16)

(iii) And (579): if a n"n behaves badly, we don’t publicly shame him, per v. 17

(iv) Further (57): forgetting even a single bit of n1n is a violation of a &Y, per v. 18
1. As per: RY2R "7 — 9%, 19,900 are all kY-indicators
2. 81237 he violates 2 — 9nwn and 1o
3. 7237 he violates 3 — 1wn and MNW are separate (plus 19)

a. However: all this is if he forgot intentionally, not due to onx
4. »xno17 7. this doesn’t apply if his studies were too challenging, per 7
a. N7 panp 1 the nn, like the soul, was given in 40 days
i.  Lesson: if someone guards his nmin-learning, his soul is guarded (and if not...not)
ii.  Parable: of 1270 — to a servant who is entrusted with a swallow, if he loses it, he for-
feits his life
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